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BABRES

B4 R4 BFZ FE B
1 BARXER /v 58 1 73.90
2 BEARE K& B 2 73.70
3 BAKER ik Rtd 1 71.15
4 HAKER /R ZXE 2 67.25
5 BIERE  MA XK 2 66.20
6 EBIIEDE AT 5% 2 65.25
7 BARKER S5 (&6 1 64.00
8 HIAKER [P &S 2 63.25
O #BIIEIE FELk &th 1 45.95
10 #Px7B0i5  ARE &6k 1 41.25

5> B@&EXER AR EX 25>

7> BAHRXER 2 5 135>

o) HAE

JE{iz FRE BFZ FE B [tiva ERE BEFL FFE B
1 BARXER /e 588 1 12.75 1 BAK s & 2 12.30
2 BRKTER PSh & 2 12.70 2 BliEAK KK 8 2 12.25
3 BERE KK BEH 2 12.65 3 BEK /IR 8 1 11.90
4 BERE AR X 2 12.60 4 BEKX kB &= 1 10.90
5 BERKXER Lk R 1 12.20 5 #PIIED Akt 5% 2 10.75
6 BARKXER Sl (&6 1 11.65 6 BIEKR A i 2 10.70
7 BARKXER /MR ZKR 2 11.10 7 BiEK BlE (& 1 10.10
8 EBIIEIE AT 5F 2 10.60 8 BHK /MR 2 9.10
0 #BNIEIE  HAK f&th 1 9.55 9 #Px7ED BREA 1% 1 7.90
10 #Bx7B935  BRHER @Ak 1 0.00 10 #Px7B9 Ak & 1 5.35

5> HAXER GF EX 2 5> 5> BHAX AR & 2 F5>

7> HAXER BlF #5 135> 7> HAEX =i5 & 1+5>

Pl BEES

JNEfL & BFZ FE B/a [[=Ziva ERE BFL FE BH
1 B@EKRER ki = 1 12.45 1 BRK fEp 4 2 13.75
2 BZEARE K&k 8 2 12.15 2 BliEAK KK B 2 12.90
3 BRKER /v #ER 1 12.00 3 BiEK /IR 8 1 12.65
4 BEKRER MR ZXEB 2 11.95 4 BARKX /MR = 2 12.60
5 BIEXRE WA X 2 11.70 5 #PIIBW At 3R 2 12.55
6 EBNIETE  ERER fRAR 1 11.50 6 BIEAK A I 2 12.30
7 BAXER SiF (&6 1 10.30 7 BiEK kg = 1 12.25
8 EBNIEIE AT 5% 2 9.85 8 BiAAK =i (i 1 11.75
9 BARKER fIgh &S 2 0.00 9 #BNIED Ak & 1 10.25
O EBIIEIE  HMK {&th 1 0.00 10 #BZED R 1@ 1 0.00

7> HAXER GF X 2 5> 7> BAX AR & 2 F5>

7> HAXER Sl #£5 135> 7> HAEX =5 &£ 1+5>

TiTHE ShiE

[[=liva & BFZ FE B [[=Ziva EREG BFL FE BH
1 BEKRER /MR #888 1 12.30 1 B{RK BIEp f2 2 12.45
2 BARKER MIEh &S 2 12.05 2 BARK /MR B8 1 12.30
3 BERKER Ak R 1 11.50 3 BEX KK fE 2 12.25
3 BBEARE KXk B 2 11.50 4 BEX kB &= 1 11.85
5 BAEKER /MR ZKA 2 11.25 5 BAK IR = 2 11.25
6 EPIIEDIS  ARE fRAR 1 11.20 6 EPIIEN At 3B 2 10.90
7 #xIB9E ALK &t 1 11.00 7 EBIIED BREH 1@ 1 10.65
8 BiEXRF MK HEK 2 10.60 8 BAAK =l (i 1 10.15
8 EBIIEDIE AT 5 2 10.60 9 #P3IED AR & 1 9.80
10 BAXER =ilF (S8 1 10.05 10 BZEX MK I 2 8.30

7> HAXER GF X 2 5> 7> BAXGERE & 2 F5>

7> HAXER SlF #£5 135> 7> BAX =5 &£ 1+5>



